Chapter 3 Test REVIEW

Name



Hour


	Is each number a solution of n(n - 6) > -4

a.
3


b.
-2


c. 5

	a.
________
b. ________

c. ________



	Graph the inequality.

x > 6
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	Write an inequality for the graph
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	Define a variable and write an inequality to model each situation.
A least 20 students were sick with the flu.

	Solution________________

	Solve the inequality and graph your solution

f + 4  > 14
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Solution______________

	Suppose it takes no more than 25 min for Ms. Reese to get to school. If she has traveled for 13.5 min already, how much longer, at most, might she take to get to school?

	Solution______________

	Solve the inequality and graph your solution

2(3 + 3g) >2g + 14
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Solution______________

	Solve the inequality and graph your solution

    3j + 2 - 2j < -10           
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Solution______________

	Solve the inequality and graph your solution

60 < 12b                        
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Solution______________

	Solve the inequality 
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 > -6                          

	Solution______________



	Dunia is going to a carnival.  Suppose it costs $5 for her to enter the carnival. Each ride costs $1.25. She has $15 to spend at the carnival. What is the greatest number of rides that she can go on?

	Solution______________



	Solve the inequality

5 + 6a > -1            
                                             
	Solution______________



	Solve the inequality and graph your solution
54 < -6k                      

	Solution______________



	Solve the inequality and graph your solution

4(k - 1) > 4

	Solution______________




